
I10
C

I11
H

1
7.57

 m
²

P
1

44
P

o
kó

j S
o

cjaln
y

3
.7

5 m
²

P
1

49
P

o
m

. G
o

sp
.

9
.9

8 m
²

P
1

47
K

latka S
ch.

1
9.85

 m
²

P
1

46
K

iero
w

nik O
dd

ział G
osp

o
da

rczy
1

5.33
 m

²

P
1

4
6

/A
K

iero
w

nik O
dd

ział G
osp

o
da

rczy

8
.8

8 m
²

P
1

4
3

/A
W

.C
.1
.2

P
1

P
o

m
.

S
Z

5
3

X
W

5
8X

G
13

h
=

20
S

Z
5

9
X

W
6

2X
G

13
h

=
20

S
Z

5
9

X
W

6
2X

G
13

h
=

20
S

Z
5

5
X

W
4

4X
G

15
h

=
21

S
Z

4
4

X
W

5
5X

G
10

h
=

18

S
Z

4
4

X
W

5
5X

G
15

h
=

20

9
.5

4 m
²

P
1

45
K

o
m

un
ikacja

+
0

.35

+
1

.96

K
la

tka
 III


